
CHEMISTRY

BOOKS - MTG IIT JEE FOUNDATION

CARBON AND ITS COMPOUNDS

Illustrations

1. What is vital force theory ? Name the

scientist who disproved the vital force theory

for the formation of organic compounds.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xgMmad7tqqrw


Watch Video Solution

2. Give difference between saturated and

unsaturated hydrocarbons.

Watch Video Solution

3. What is the general formula of alkanes ?

Identify the alkanes from the following: 

Watch Video Solution

CH4, C2H2, C2H6, C3H6, C3H8

https://dl.doubtnut.com/l/_xgMmad7tqqrw
https://dl.doubtnut.com/l/_JzyQ5Y0tXfcf
https://dl.doubtnut.com/l/_Ttr0BifQe6Kc


4. What is the general formula of alkenes ?

Identify the alkenes from the following 

Watch Video Solution

C2H6, C2H4, C3H4, C2H2, C3H6

5. A hydrocarbon molecule has 3 carbon atoms

. Write down its molecular formula if it is an :

(i) alkane , (ii) alkene, (iii) alkyne.

Watch Video Solution

https://dl.doubtnut.com/l/_Ttr0BifQe6Kc
https://dl.doubtnut.com/l/_6r7KpzC5LgiG
https://dl.doubtnut.com/l/_6TikrNEieOYM


6. Explain isomerism. State any four

characteristics of isomers. Draw the structures

of possible isomers of butane, .

Watch Video Solution

C4H10

7. Define the term functional group. Identify

the functional group present in 

Watch Video Solution

(i)H −

O

∣ ∣

C − H      (ii)H −

H

∣

C
∣

H

−

OH

∣

C = O

https://dl.doubtnut.com/l/_tv9rSK3ieBMj
https://dl.doubtnut.com/l/_PMrlML47Pk0m


8. Write the name and formula of the first

member of the series of carbon compounds

having functional group .

Watch Video Solution

−

O

∣ ∣

C − OH

9. Butanone is a four-carbon containing

compound. Name the functional group

present in it.

Watch Video Solution

https://dl.doubtnut.com/l/_lPRRSHVQ8sVs
https://dl.doubtnut.com/l/_0oUlT6dde0QF


10. Write the chemical equations to show what

happens when an ester reacts with a base?

Watch Video Solution

11. Write the chemical equations to show what

happens when ethanol reacts with ethanoic

acid in the presence of sulphuric acid?

Watch Video Solution

https://dl.doubtnut.com/l/_OGWqjq3sRL9l
https://dl.doubtnut.com/l/_IoPzMEXHqBWF


Solved Examples

12. List in tabular form three physical and two

chemical properties on the basis of which

ethanol and ethanoic acid can be

differentiated.

View Text Solution

1. What is the meaning of functional group in

an organic compound ? Give the structural

https://dl.doubtnut.com/l/_CYVn3gw7J0gt
https://dl.doubtnut.com/l/_k052t9Zuut7v


formula of the functional groups in (i) acetic

acid and (ii) ethyl alcohol.

Watch Video Solution

2. What is homologous series of compounds?

List any two characteristics of homologous

series.

Watch Video Solution

https://dl.doubtnut.com/l/_k052t9Zuut7v
https://dl.doubtnut.com/l/_YNKB4YTP780P


3. State the difference between two

consecutive homologues of hydrocarbon

series.

Watch Video Solution

4. Give the name and molecular formula of a

higher homologue of butane.

Watch Video Solution

https://dl.doubtnut.com/l/_4NR8tNzmysjC
https://dl.doubtnut.com/l/_9t17ejybxxyw


5. Give reasons for the following: 

Element carbon forms compounds mainly by

covalent bonding.

Watch Video Solution

6. Give reasons for the following: 

Diamond has high melting point.

Watch Video Solution

https://dl.doubtnut.com/l/_tCQ2gPNggvdJ
https://dl.doubtnut.com/l/_4BFfLDkC80bK


7. Give reasons for the following: 

Graphite is a good conductor of electricity.

Watch Video Solution

8. Why does carbon form large number of

compounds?

Watch Video Solution

9. What are hydrocarbons? Give examples

https://dl.doubtnut.com/l/_pLvjdSbG9Z5z
https://dl.doubtnut.com/l/_0M0UbCobimpD
https://dl.doubtnut.com/l/_VKXQk77Dz8w3


Watch Video Solution

10. Why are some of the carbon compounds

saturated while others are unsaturated

compounds?

Watch Video Solution

11. Identify and name the functional groups

present in the following compounds. 

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C
∣

H

− OH

https://dl.doubtnut.com/l/_VKXQk77Dz8w3
https://dl.doubtnut.com/l/_wi6GjO3cnu8B
https://dl.doubtnut.com/l/_otl5mfvwPmbN


Watch Video Solution

12. Identify and name the functional groups

present in the following compounds. 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

O

∣ ∣

C − OH

13. Identify and name the functional groups

present in the following compounds. 

https://dl.doubtnut.com/l/_otl5mfvwPmbN
https://dl.doubtnut.com/l/_9WDnm6TxOZtL
https://dl.doubtnut.com/l/_ViiWhLW9Rxyu


Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

O

∣ ∣

C −

H

∣

C
∣

H

−

H

∣

C
∣

H

− H

14. Identify and name the functional groups

present in the following compounds. 

Watch Video Solution

H −

H

∣

C
∣

H

−

H

∣

C
∣

H

−

H

∣

C =

H

∣

C − H

https://dl.doubtnut.com/l/_ViiWhLW9Rxyu
https://dl.doubtnut.com/l/_5O7MjbvOu3uP


Exercise Multiple Choice Questions

15. Write the molecular formula of the third

and the fifth members of the homologous

series of carbon compounds represented by

.

Watch Video Solution

CnH2n − 2

1. The hydrocarbon with the general formula

 is anCnH2n + 2

https://dl.doubtnut.com/l/_CW0CppzP9BFd
https://dl.doubtnut.com/l/_9jfLRefFNP0p


A. alkane

B. alkene

C. alkyne

D. unsaturated compound.

Answer: A

Watch Video Solution

2. Which of the following is an alkane?

A. C2H6

https://dl.doubtnut.com/l/_9jfLRefFNP0p
https://dl.doubtnut.com/l/_vRQG5vOmH3kl


B. 

C. 

D. 

Answer: A

Watch Video Solution

C3H4

C2H2

C4H6

3. The functional group of alcohols is

A. −

O

∣ ∣

C − O −

https://dl.doubtnut.com/l/_vRQG5vOmH3kl
https://dl.doubtnut.com/l/_jIDAwdi5algD


B. 

C. 

D. 

Answer: C

Watch Video Solution

−

O

∣ ∣

C − OH

−OH

−

H

∣

C = O

4. Which of the following formula represents

alkenes?

https://dl.doubtnut.com/l/_jIDAwdi5algD
https://dl.doubtnut.com/l/_5jabpLZBKh1w


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CnH2n

CnH2n + 2

CnH2n − 2

CnH2n + 1

5. The functional group of carboxylic acid is

A. −CHO

https://dl.doubtnut.com/l/_5jabpLZBKh1w
https://dl.doubtnut.com/l/_ecgQDRNPaXgL


B. 

C. 

D. 

Answer: C

Watch Video Solution

−

O

∣ ∣

C −

−COOH

−COOR

6. Which of the following compounds can have

a triple bond?

A. C2H6

https://dl.doubtnut.com/l/_ecgQDRNPaXgL
https://dl.doubtnut.com/l/_o7tzV98sNh74


B. 

C. 

D. 

Answer: B

Watch Video Solution

C3H4

C3H8

C3H6

7. An alkyne has 8 carbon atoms. The number

of hydrogen atoms in it are

A. 8

https://dl.doubtnut.com/l/_o7tzV98sNh74
https://dl.doubtnut.com/l/_QzYPDyXoFowe


B. 16

C. 18

D. 14

Answer: D

Watch Video Solution

8. The vital force theory was propounded by

A. Berzelius

B. Wohler

https://dl.doubtnut.com/l/_QzYPDyXoFowe
https://dl.doubtnut.com/l/_9SKgF6mTa6pb


C. Lavoisier

D. Lewis.

Answer: A

Watch Video Solution

9. Indentify the unsaturated compounds from

the following. 

(i) Propane 

(ii) Propene 

https://dl.doubtnut.com/l/_9SKgF6mTa6pb
https://dl.doubtnut.com/l/_UWAzisgUhvSp


(iii) Propyne 

(iv) Chloropropane

A. (i) and (ii)

B. (ii) and (iv)

C. (iii) and (iv)

D. (ii) and (iii)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UWAzisgUhvSp


10. Which of the following statements are

usually correct for carbon compounds ? These 

are good conductors of electricity. 

are poor conductors of electricity. 

have strong forces of attraction between their

molecules. 

do not have strong forces of attraction

between their molecules.

A. (i) and (iii)

B. (ii) and (iii)

C. (i) and (iv)

https://dl.doubtnut.com/l/_cPgA9xJrE8Br


D. (ii) and (iv)

Answer: D

Watch Video Solution

11. A molecule of ammonia  has (

अमोनिया अणु है )

A. only single bonds

B. only double bonds

C. only triple bonds

(NH3)

https://dl.doubtnut.com/l/_cPgA9xJrE8Br
https://dl.doubtnut.com/l/_OKXynnyS4y4o


D. two double bonds and one single bond.

Answer: A

Watch Video Solution

12. Structural formula of ethyne is

A. 

B. 

C. 

C − C ≡ C − H

CH3 − C ≡ C − H

https://dl.doubtnut.com/l/_OKXynnyS4y4o
https://dl.doubtnut.com/l/_jjQbfSpyswwV


D. 

Answer: A

Watch Video Solution

13. Which of the following does not belong to

the same homologous series ?

A. 

B. 

C. 

CH4

C2H6

C3H8

https://dl.doubtnut.com/l/_jjQbfSpyswwV
https://dl.doubtnut.com/l/_xS71Io4GqD2m


D. 

Answer: D

Watch Video Solution

C4H8

14. The first member of alkyne homologous

series is

A. ethyne

B. ethene

C. propyne

https://dl.doubtnut.com/l/_xS71Io4GqD2m
https://dl.doubtnut.com/l/_um6vGIkynqox


D. methane.

Answer: A

Watch Video Solution

15. Which amond the following are

unsaturated hydrocarbons ? 

(i)  


(ii)  


(iii)  

(iv) 

H3C − CH2 − CH2 − CH3

H3C − C ≡ C − CH3

H3C − CH
∣   

CH3

− CH3

H3C − C
∣

CH3

= CH2

https://dl.doubtnut.com/l/_um6vGIkynqox
https://dl.doubtnut.com/l/_zz1hf1vfYXK3


A. (i) and (iii)

B. (ii) and (iii)

C. (ii) and (iv)

D. (iii) and (iv)

Answer: C

Watch Video Solution

16. Urea was synthesised for the first time by

A. Friedrich Wohler

https://dl.doubtnut.com/l/_zz1hf1vfYXK3
https://dl.doubtnut.com/l/_C4kfWlQchCyq


B. Berzelius

C. Kolbe

D. Berthelot

Answer: A

Watch Video Solution

17. Buckminsterfullerene is an example of

A. an isomer

B. an isotope

https://dl.doubtnut.com/l/_C4kfWlQchCyq
https://dl.doubtnut.com/l/_BSFtXkBk7WPk


C. an allotrope

D. a functional group.

Answer: C

Watch Video Solution

18. Can homologues be isomers?

A. Yes

B. No

C. Sometimes

https://dl.doubtnut.com/l/_BSFtXkBk7WPk
https://dl.doubtnut.com/l/_Yf4LBAbF8l1V


D. None of these

Answer: B

Watch Video Solution

19. Compounds having same molecular

formula but different properties are called

A. isotopes

B. isobars

C. isomers

https://dl.doubtnut.com/l/_Yf4LBAbF8l1V
https://dl.doubtnut.com/l/_Z4LxOZuzgqyz


D. isochores.

Answer: C

Watch Video Solution

20. The IUPAC name of  is :

A. acetaldehyde

B. methanal

C. ethanal

D. formaldehyde

CH3CHO

https://dl.doubtnut.com/l/_Z4LxOZuzgqyz
https://dl.doubtnut.com/l/_jqKl6evfGdQq


Answer: C

Watch Video Solution

21. Which of the following is correct set? 

A. (i)-(p), (ii)-(q), (iii)-(r ), (iv)-(v), (v)-(u)

B. (i)-(e ), (ii)-(s), (iii)-(v), (iv)-(u), (v)-(p)

(i)Hexane (p)C4H10

(ii)Ethane (q)C6H12

(iii)Pentene (r)C5H12

(iv)Hexene (s)C2H6

(v)Butane (t)C6H14

(u)C4H8

(v)C5H10

https://dl.doubtnut.com/l/_jqKl6evfGdQq
https://dl.doubtnut.com/l/_2frBuOxQMqOI


C. (i)-(t), (ii)-(s), (iii)-(v), (iv)-(q), (v)-(p)

D. (i)-(r ), (ii)-(q), (iii)-(p), (iv)-(s), (v)-(t)

Answer: C

Watch Video Solution

22. Which of the following is wood spirit?

A. Methanol

B. Ethanol

C. Methane

https://dl.doubtnut.com/l/_2frBuOxQMqOI
https://dl.doubtnut.com/l/_vh2bUGKmxQOK


D. Ethane

Answer: A

Watch Video Solution

23. Which of the following are correct

structural isomers of butane? 

https://dl.doubtnut.com/l/_vh2bUGKmxQOK
https://dl.doubtnut.com/l/_kTUDeVymeMIl


A. (i) and (iii)

B. (ii) and (iv)

https://dl.doubtnut.com/l/_kTUDeVymeMIl


C. (i) and (ii)

D. (iii) and (iv)

Answer: C

Watch Video Solution

24. An alkene has 5 carbon atoms. The number

of hydrogen atoms in it is

A. 2

B. 4

https://dl.doubtnut.com/l/_kTUDeVymeMIl
https://dl.doubtnut.com/l/_1K3dBSj88ER7


C. 8

D. 10

Answer: D

Watch Video Solution

25. The difference in molecular weights of two

consecutive members of a homologous series

is

A. 14

https://dl.doubtnut.com/l/_1K3dBSj88ER7
https://dl.doubtnut.com/l/_ptkcjWQ1CM3G


B. 2

C. 4

D. 8

Answer: A

Watch Video Solution

26. The credit for preparing the first organic

compound in the laboratory went to

A. Berzelius

https://dl.doubtnut.com/l/_ptkcjWQ1CM3G
https://dl.doubtnut.com/l/_745xsWkzX25R


B. Berthelot

C. Kolbe

D. Wohler

Answer: C

Watch Video Solution

27. The first organic compound that have been

prepared in the laboratory was

A. acetic acid

https://dl.doubtnut.com/l/_745xsWkzX25R
https://dl.doubtnut.com/l/_1KdthrPn5BMV


B. acetylene

C. methane

D. urea

Answer: D

Watch Video Solution

28. Which of the following is not an aliphatic

compound?

A. Alkane

https://dl.doubtnut.com/l/_1KdthrPn5BMV
https://dl.doubtnut.com/l/_9HQjAyTQMnbp


B. Alkene

C. Alkyne

D. Benzene

Answer: D

Watch Video Solution

29. The correct IUPAC name of the compound 

 is

A. 2-methylbut-2-enoic acid

CH3 −

H3C

∣

C =

H

∣

C − COOH

https://dl.doubtnut.com/l/_9HQjAyTQMnbp
https://dl.doubtnut.com/l/_DrpL33z9FdGh


B. 3-methylbut-3-enoic acid

C. 3-methylbut-2-enoic acid

D. 2-methylbut-3-enoic acid

Answer: C

Watch Video Solution

30. The nature of linkage in organic

compounds is generally

A. ionic

https://dl.doubtnut.com/l/_DrpL33z9FdGh
https://dl.doubtnut.com/l/_bv98ue3L12vW


B. covalent

C. co-ordinate

D. both (a) and (b)

Answer: B

Watch Video Solution

31. When a mixture of potassium cyanate and

ammonium chloride is heated, it gives

A. urea

https://dl.doubtnut.com/l/_bv98ue3L12vW
https://dl.doubtnut.com/l/_FlTm1zDvkjSY


B. methane

C. acetic acid

D. methanol

Answer: A

Watch Video Solution

32. Chemically similar compounds having the

same functional group but differing by a 

group in their molecular formula are known as

CH2

https://dl.doubtnut.com/l/_FlTm1zDvkjSY
https://dl.doubtnut.com/l/_JnmmlSNpUtF7


A. homologues

B. isomers

C. polymers

D. allotropes

Answer: A

Watch Video Solution

33. Ethanol reacts with sodium to form

A. sodium ethanoate and hydrogen

https://dl.doubtnut.com/l/_JnmmlSNpUtF7
https://dl.doubtnut.com/l/_pOZzkctr72vV


B. sodium ethanoate and oxygen

C. sodium ethoxide and hydrogen

D. sodium ethoxide and oxygen

Answer: C

Watch Video Solution

34. Which of the following is called marsh gas?

A. Methane

B. Ethane

https://dl.doubtnut.com/l/_pOZzkctr72vV
https://dl.doubtnut.com/l/_S90QhXp8r0nm


C. Ethene

D. Ethyne

Answer: A

Watch Video Solution

35. Which is the molecular formula of decane?

A. 

B. 

C. 

C10H22

C8H16

C12H24

https://dl.doubtnut.com/l/_S90QhXp8r0nm
https://dl.doubtnut.com/l/_unLY8GPw7YGu


D. 

Answer: A

Watch Video Solution

C5H12

36. In ethane each carbon atom is bonded to

A. two atoms

B. three atoms

C. four atoms

D. six atoms.

https://dl.doubtnut.com/l/_unLY8GPw7YGu
https://dl.doubtnut.com/l/_dWbah12IJJlK


Answer: C

Watch Video Solution

37. Saponification is the hydrolysis of an ester

under basic conditions to form

A. alkane and salt of carboxylic acid

B. ketone and salt of carboxylic acid

C. aldehyde and salt of carboxylic acid

D. alcohol and salt of carboxylic acid.

https://dl.doubtnut.com/l/_dWbah12IJJlK
https://dl.doubtnut.com/l/_yr7MoImNRiqk


Answer: D

Watch Video Solution

38. Which of the following is not an allotrope

of carbon ?

A. Graphite

B. Coal

C. Diamond

D. Fullerene

https://dl.doubtnut.com/l/_yr7MoImNRiqk
https://dl.doubtnut.com/l/_27bR6cJWXN8t


Answer: B

Watch Video Solution

39. The saturated hydrocarbons are called

A. olefins

B. alkenes

C. alkanes

D. alkynes

Answer: C

https://dl.doubtnut.com/l/_27bR6cJWXN8t
https://dl.doubtnut.com/l/_SKnIZw9WCFxx


Watch Video Solution

40. The branch of chemistry which deals with

study of hydrocarbons and their derivatives is

termed as

A. organic chemistry

B. physical chemistry

C. inorganic chemistry

D. nuclear chemistry

Answer: A

https://dl.doubtnut.com/l/_SKnIZw9WCFxx
https://dl.doubtnut.com/l/_cVOFep2R22MX


Watch Video Solution

41. An organic compound must contain

A. carbon

B. boron

C. oxygen

D. nitrogen.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cVOFep2R22MX
https://dl.doubtnut.com/l/_zMHhASemGSkD


42. A hydrocarbon is a

A. carbon found in nature in the free state

B. compound of carbon and hydrogen

C. compound found in the form of sulphate

D. carbon found in nature in the form of

carbonates.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zMHhASemGSkD
https://dl.doubtnut.com/l/_3PbyKVh6HQj5


43. Which of the following pairs of compounds

of carbon will undergo combustion as well as

addition reactions?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4 and C2H6

C2H6O and C3H8O

C2H4O2 and C3H6O

C2H2 and C3H6

https://dl.doubtnut.com/l/_QRRp3dq6SWQy


44. IUPAC stands for

A. Indian Union of Pure and Applied

Chemistry

B. International Union of Pure and Applied

Chemistry

C. International United Pure Agricultural

Corporation

D. International United Pure Agro

Corporation.

https://dl.doubtnut.com/l/_AIg57TdTd6wc


Answer: B

Watch Video Solution

45. Olefins is the other name of

A. alkanes

B. alkenes

C. alkynes

D. alcohols.

Answer: B

https://dl.doubtnut.com/l/_AIg57TdTd6wc
https://dl.doubtnut.com/l/_Bo6PfTYXVBGJ


Watch Video Solution

46. Aldehydic group  is represented

by Suffix

A. ol

B. one

C. al

D. oate

Answer: C

R − CHO

−

−

−

−

https://dl.doubtnut.com/l/_Bo6PfTYXVBGJ
https://dl.doubtnut.com/l/_wLFwYz3KPOxv


Watch Video Solution

47. Which of the following is chiefly present in

LPG?

A. Methane

B. Ethane

C. Butane

D. Hexane

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wLFwYz3KPOxv
https://dl.doubtnut.com/l/_lRu7ZqxaI4mF


48. Which hydrocarbon is the main component

of natural gas?

A. Ethane

B. Propane

C. Methane

D. Ethylene

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lRu7ZqxaI4mF
https://dl.doubtnut.com/l/_DfGCLokVZvrU


49. All hydrocarbons burn in presence of air to

produce

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2 + H2O

CO + H2O

CO2 + H2

CO + H2

https://dl.doubtnut.com/l/_cqQ0SGjljS5W
https://dl.doubtnut.com/l/_dAQZ5V1h0jsO


Exercise Match The Following

50. Vinegar is a solution of

A. 50% - 60% acetic acid in alcohol

B. 5%-8% acetic acid in alcohol

C. 5% - 8% acetic acid in water

D. 50% - 60% acetic acid water

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dAQZ5V1h0jsO
https://dl.doubtnut.com/l/_kFfFO9zZidE6


1. 

A. P-3, Q-2, R-1, S-4

B. P-1, Q-2, R-3, S-4

C. P-2, Q-3, R-1, S-4

D. P-3, Q-1, R-2, S-4

Answer: A

Watch Video Solution

List-I List-II

(P )CnH2n + 2 (1)Alkyne

(Q)CnH2n (2)Alkene

(R)CnH2n − 2 (3)Alkane

(S)CnH2n − 1 (4)Alkyl group

https://dl.doubtnut.com/l/_kFfFO9zZidE6


2. 

A. P-1, Q-2, R-4, S-1

B. P-2, Q-3, R-4, S-1

C. P-3, Q-2, R-1, S-4

D. P-4, Q-2, R-3, S-1

Answer: B

Watch Video Solution

 List-I  List-II

(P )Alcohol (1) − COOH

(Q)Aldehyde (2) − OH

(R)Ketone (3) − CHO

(S)Carboxylic acid (4) −

O

∣ ∣

C −

https://dl.doubtnut.com/l/_JBpt81imi5vP


3. 

A. P-3, Q-1, R-2, S-4

B. P-4, Q-2, R-1, S-3

C. P-1, Q-2, R-3, S-4

D. P-2, Q-4, R-1, S-3

Answer: A

Watch Video Solution

 List-I  List-II

(P )Four carbon atoms (1)Prop

(Q)Three carbon atoms (2)Pent

(R)Five carbon atoms (3)But

(S)Six carbon atoms (4)Hex

https://dl.doubtnut.com/l/_JBpt81imi5vP
https://dl.doubtnut.com/l/_5gxmVtFSW14G


4. 

A. P-1, Q-4, R-3, S-2

B. P-3, Q-2, R-4, S-1

C. P-2, Q-1, R-4, S-3

D. P-4, Q-2, R-1, S-3

Answer: C

 List-I  List-II

(P )Butane (1)C6H10

(Q)Hexyne (2)C4H10

(R)Pentene (3)C2H2

(S)Acetylene (4)C5H10

https://dl.doubtnut.com/l/_5gxmVtFSW14G
https://dl.doubtnut.com/l/_aL5v1ewnzoMM


Watch Video Solution

5. 

A. P-2, Q-4, R-3, S-1

B. P-1, Q-3, R-2, S-4

C. P-2, Q-1, R-4, S-3

D. P-1, Q-4, R-3, S-2

Answer: D

 List-I  List-II

(P )Alcohol (1) − ol

(Q)Aldehyde (2) − ene

(R)Ketone (3) − one

(S)Alkene (4) − al

https://dl.doubtnut.com/l/_aL5v1ewnzoMM
https://dl.doubtnut.com/l/_OkN8TIdd0sVM


Exercise Assertion Reason Type

Watch Video Solution

1. Assertion : Ethene can be catalytically

hydrogenated. 

Reason : Ethene contains all C-H bonds.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

https://dl.doubtnut.com/l/_OkN8TIdd0sVM
https://dl.doubtnut.com/l/_dNxl3QfSThWd


B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dNxl3QfSThWd


2. Assertion : Geometrical isomerism is also

called cis-trans isomerism. 

Reason : Propene shows geometrical

isomerism.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

https://dl.doubtnut.com/l/_Nt0Clp88NVr8


C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

3. Assertion : Alkenes are reactive than alkanes.

Reason : Alkene contains double bonds.

A. If both assertion and reason are true

and reason is the correct explanation of

https://dl.doubtnut.com/l/_Nt0Clp88NVr8
https://dl.doubtnut.com/l/_Lwd8mABATjzC


assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Lwd8mABATjzC


4. Assertion : Acetylene forms acetylide but

ethylene does not. 

Reason : Acetylene is lighter than air.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

https://dl.doubtnut.com/l/_q7qEDO7IY5Ze


D. If both assertion and reason are false.

Answer: B

Watch Video Solution

5. Assertion : Oxidation of alkanes generates

large heat. 

Reason : Heat generated by burning coal is

used to generate electricity.

https://dl.doubtnut.com/l/_q7qEDO7IY5Ze
https://dl.doubtnut.com/l/_fwukql4lCdEO


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fwukql4lCdEO


6. Assertion : Both aldehydes and ketones

contain carbonyl group. 

Reaction : In aldehydes, the functional group

is attached to atleast one hydrogen atom.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_fwukql4lCdEO
https://dl.doubtnut.com/l/_sbgHQBx1JKxv


assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

7. Assertion : Ethanol is the first member of

the alcohol homologous series. 

Reason : A homologous series cannot be

represented by a general formula.

https://dl.doubtnut.com/l/_sbgHQBx1JKxv
https://dl.doubtnut.com/l/_IAVAECc36jmZ


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IAVAECc36jmZ


8. Assertion : Alkynes show geometrical

isomerism. 

Reason : Geometrical isomerism arises due to

the restricted rotation of a single bond.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

https://dl.doubtnut.com/l/_IAVAECc36jmZ
https://dl.doubtnut.com/l/_8u8fShEPjRcj


assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

9. Assetion: Carbon possesses property of

catenation. 

Reason: Carbon atoms form double as well as

triple bonds during catenation.

https://dl.doubtnut.com/l/_8u8fShEPjRcj
https://dl.doubtnut.com/l/_nWFaym1EHpCl


A. If both assertion and reason are true

and reason is the correct explanation of

assertion

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_nWFaym1EHpCl


10. Assertion :

 is 

Reason : Names are not to be written

according to the alphabetical order of

substituents.

A. If both assertion and reason are true

and reason is the correct explanation of

assertion

CH3 − CH
∣

Cl

− CH2 − CH
∣

CH3

− CHO

2-chloro-4-methylpentanal.

https://dl.doubtnut.com/l/_nWFaym1EHpCl
https://dl.doubtnut.com/l/_6Au0oNm4RUVl


Exercise Comprehension Type Passage

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6Au0oNm4RUVl
https://dl.doubtnut.com/l/_DLiFeAp4C0GH


1. The IUPAC name of any organic compound

consists of four parts, i.e., word root, primary

and secondary suffixes and prefixes. The word

root denotes the total number of carbon

atoms in the longest continuous chain of

carbon atoms present in the molecule. The

primary suffix denotes whether the compound

is saturated (i.e., ane) or unsaturated (i.e., ene

or yne) while the secondary suffix denotes the

functional group present in the molecule. The

primary prefix cyclo is used only when the

compound is cyclic in nature while the

https://dl.doubtnut.com/l/_DLiFeAp4C0GH


secondary prefixes denote the substituents

and secondary functional groups, if any. 

IUPAC name of acetylene is

A. ethyne

B. methane

C. alcohol

D. ethane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DLiFeAp4C0GH
https://dl.doubtnut.com/l/_26kyzXPIKrGL


2. The IUPAC name of any organic compound

consists of four parts, i.e., word root, primary

and secondary suffixes and prefixes. The word

root denotes the total number of carbon

atoms in the longest continuous chain of

carbon atoms present in the molecule. The

primary suffix denotes whether the compound

is saturated (i.e., ane) or unsaturated (i.e., ene

or yne) while the secondary suffix denotes the

functional group present in the molecule. The

primary prefix cyclo is used only when the

compound is cyclic in nature while the

https://dl.doubtnut.com/l/_26kyzXPIKrGL


secondary prefixes denote the substituents

and secondary functional groups, if any. 

IUPAC name of methyl alcohol is

A. methanol

B. ethanol

C. ethanal

D. ethanoic acid

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_26kyzXPIKrGL
https://dl.doubtnut.com/l/_OUEvc87vDdP6


3. The IUPAC name of any organic compound

consists of four parts, i.e., word root, primary

and secondary suffixes and prefixes. The word

root denotes the total number of carbon

atoms in the longest continuous chain of

carbon atoms present in the molecule. The

primary suffix denotes whether the compound

is saturated (i.e., ane) or unsaturated (i.e., ene

or yne) while the secondary suffix denotes the

functional group present in the molecule. The

primary prefix cyclo is used only when the

compound is cyclic in nature while the

https://dl.doubtnut.com/l/_OUEvc87vDdP6


secondary prefixes denote the substituents

and secondary functional groups, if any. 

The IUPAC name of the compound 

 is

A. butanol

B. butanal

C. butene

D. propanol

Answer: A

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_OUEvc87vDdP6


4. Organic compounds were named after the

source from which they were first isolated. For

example, urea got its name since the

compound was first obtained from the urine

of mammals. Similarly, methyl alcohol was

called wood spirit since it could be obtained

by the destructive distillation of wood. Acetic

acid got its name from acetum (Latin : acetum

means vinegar) since it is present in vinegar.

Similarly, the name formic acid was derived

from formica (Latin : formica means red ants)

https://dl.doubtnut.com/l/_OUEvc87vDdP6
https://dl.doubtnut.com/l/_wfAMZSaJlgpC


since it could be obtained by the destructive

distillation of red ants. Likewise citric acid is

named so because it is found in citrus fruits.

These names of organic compounds are called

trivial names or common names. 

Vinegar is a

A. 5% solution of acetic acid in water

B. 50% solution of acetic acid in water

C. 25% solution of acetic acid in water

D. 40% solution of formic acid in water

Answer: A

https://dl.doubtnut.com/l/_wfAMZSaJlgpC


Watch Video Solution

5. Organic compounds were named after the

source from which they were first isolated. For

example, urea got its name since the

compound was first obtained from the urine

of mammals. Similarly, methyl alcohol was

called wood spirit since it could be obtained

by the destructive distillation of wood. Acetic

acid got its name from acetum (Latin : acetum

means vinegar) since it is present in vinegar.

Similarly, the name formic acid was derived

https://dl.doubtnut.com/l/_wfAMZSaJlgpC
https://dl.doubtnut.com/l/_EG4rlSefSx42


from formica (Latin : formica means red ants)

since it could be obtained by the destructive

distillation of red ants. Likewise citric acid is

named so because it is found in citrus fruits.

These names of organic compounds are called

trivial names or common names. 

IUPAC name of acetic acid is

A. methanoic acid

B. ethanoic acid

C. propanoic acid

D. formic acid

https://dl.doubtnut.com/l/_EG4rlSefSx42


Answer: B

Watch Video Solution

6. Organic compounds were named after the

source from which they were first isolated. For

example, urea got its name since the

compound was first obtained from the urine

of mammals. Similarly, methyl alcohol was

called wood spirit since it could be obtained

by the destructive distillation of wood. Acetic

acid got its name from acetum (Latin : acetum

https://dl.doubtnut.com/l/_EG4rlSefSx42
https://dl.doubtnut.com/l/_hI7eOHQsH00W


means vinegar) since it is present in vinegar.

Similarly, the name formic acid was derived

from formica (Latin : formica means red ants)

since it could be obtained by the destructive

distillation of red ants. Likewise citric acid is

named so because it is found in citrus fruits.

These names of organic compounds are called

trivial names or common names. 

The common name of methanoic acid is

A. acetic acid

B. ethanoic acid

C. formic acid

https://dl.doubtnut.com/l/_hI7eOHQsH00W


D. propanoic acid

Answer: C

Watch Video Solution

7. A functional group is an atom or group of

atoms which determines the characteristic

functions or chemical properties of a

particular organic compound. A functional

group contains one or more atoms of

elements other than carbon such as oxygen,

https://dl.doubtnut.com/l/_hI7eOHQsH00W
https://dl.doubtnut.com/l/_JdgvwTFI7JkA


nitrogen, sulphur and halogens. These atoms

are known as heteroatoms and they can

replace one or more hydrogen atoms in a

hydrocarbon chain. These heteroatoms are

responsible for the specific properties of

organic compounds regardless of nature and

length of carbon chain. These heteroatoms or

group of heteroatoms are known as functional

groups. The examples of functional groups are

- OH, - F,- Cl, -Br, - CHO, - COOH,

, etc. 


The functional group of alcohol is

−NO2, − NH2

https://dl.doubtnut.com/l/_JdgvwTFI7JkA


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−OH

−COOH

−CHO

−Cl

8. A functional group is an atom or group of

atoms which determines the characteristic

functions or chemical properties of a

https://dl.doubtnut.com/l/_JdgvwTFI7JkA
https://dl.doubtnut.com/l/_Waji89PBeDKg


particular organic compound. A functional

group contains one or more atoms of

elements other than carbon such as oxygen,

nitrogen, sulphur and halogens. These atoms

are known as heteroatoms and they can

replace one or more hydrogen atoms in a

hydrocarbon chain. These heteroatoms are

responsible for the specific properties of

organic compounds regardless of nature and

length of carbon chain. These heteroatoms or

group of heteroatoms are known as functional

groups. The examples of functional groups are

- OH, - F,- Cl, -Br, - CHO, - COOH,

https://dl.doubtnut.com/l/_Waji89PBeDKg


, etc. 


The functional group of amino is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−NO2, − NH2

−OH

−NO2

−NH2

−Br

https://dl.doubtnut.com/l/_Waji89PBeDKg


9. A functional group is an atom or group of

atoms which determines the characteristic

functions or chemical properties of a

particular organic compound. A functional

group contains one or more atoms of

elements other than carbon such as oxygen,

nitrogen, sulphur and halogens. These atoms

are known as heteroatoms and they can

replace one or more hydrogen atoms in a

hydrocarbon chain. These heteroatoms are

responsible for the specific properties of

organic compounds regardless of nature and

https://dl.doubtnut.com/l/_yxkv5yYX7zt0


length of carbon chain. These heteroatoms or

group of heteroatoms are known as functional

groups. The examples of functional groups are

- OH, - F,- Cl, -Br, - CHO, - COOH,

, etc. 


The functional group of halogens is

A. 

B. 

C. 

D. 

Answer: A

−NO2, − NH2

−Cl

−CN

−OH

−CHO

https://dl.doubtnut.com/l/_yxkv5yYX7zt0


Watch Video Solution

10. Methane is the first member of the alkane

series. It belongs to a group of compounds

called aliphatic compounds. Among the

hydrocarbons, it belongs to a group called

paraffins. Methane being a paraffin, is not very

reactive. It is the simplest hydrocarbon and

the molecular formula of methane is  . It

is also called marsh gas because it is found

bubbling in marshy places where it is

produced by the bacterial decomposition of

CH4

https://dl.doubtnut.com/l/_yxkv5yYX7zt0
https://dl.doubtnut.com/l/_mvk45Zvm7FJH


vegetable matters. It is found in natural gas. It

is also produced when wood, peat and coal are

dry distilled. It is also found in coal mines

where it forms explosive mixture with air. It is

called fire-damp by coal miners. 

Which of the following is marsh gas?

A. 

B. 

C. 

D. 

Answer: A

CH4

C2H2

C2H4

C3H6

https://dl.doubtnut.com/l/_mvk45Zvm7FJH


Watch Video Solution

11. Methane is the first member of the alkane

series. It belongs to a group of compounds

called aliphatic compounds. Among the

hydrocarbons, it belongs to a group called

paraffins. Methane being a paraffin, is not very

reactive. It is the simplest hydrocarbon and

the molecular formula of methane is  . It

is also called marsh gas because it is found

bubbling in marshy places where it is

produced by the bacterial decomposition of

CH4

https://dl.doubtnut.com/l/_mvk45Zvm7FJH
https://dl.doubtnut.com/l/_7foQyCEJcOPY


vegetable matters. It is found in natural gas. It

is also produced when wood, peat and coal are

dry distilled. It is also found in coal mines

where it forms explosive mixture with air. It is

called fire-damp by coal miners. 

Which of the following is the fourth member

of alkane?

A. 

B. 

C. 

D. 

C3H6

CH4

C4H10

C2H5OH

https://dl.doubtnut.com/l/_7foQyCEJcOPY


Answer: C

Watch Video Solution

12. Methane is the first member of the alkane

series. It belongs to a group of compounds

called aliphatic compounds. Among the

hydrocarbons, it belongs to a group called

paraffins. Methane being a paraffin, is not very

reactive. It is the simplest hydrocarbon and

the molecular formula of methane is  . It

is also called marsh gas because it is found

CH4

https://dl.doubtnut.com/l/_7foQyCEJcOPY
https://dl.doubtnut.com/l/_KiTzrxsX1fhE


bubbling in marshy places where it is

produced by the bacterial decomposition of

vegetable matters. It is found in natural gas. It

is also produced when wood, peat and coal are

dry distilled. It is also found in coal mines

where it forms explosive mixture with air. It is

called fire-damp by coal miners. 

Natural gas is primarily composed of

A. butane

B. pentane

C. methane

https://dl.doubtnut.com/l/_KiTzrxsX1fhE


Exercise Integer Numerical Value Type

D. 2-methylbutane.

Answer: C

Watch Video Solution

1. Number of carbon atoms in alkane having

molecular mass 86 is

Watch Video Solution

https://dl.doubtnut.com/l/_KiTzrxsX1fhE
https://dl.doubtnut.com/l/_HJcPOaIB6rmr
https://dl.doubtnut.com/l/_rg5funM9S5ye


2. Maximum number of isomers of an alkane

with molecular formula  is

View Text Solution

C4H10

3. Total number of covalent bonds in an

ethane molecule is

Watch Video Solution

https://dl.doubtnut.com/l/_rg5funM9S5ye
https://dl.doubtnut.com/l/_73rtfoobBo4n


4. Number of free electron(s) in each carbon

atom in graphite is/are

Watch Video Solution

5. If molecular formula of benzene is ,

total number of carbon-carbon single bonds

are

Watch Video Solution

C6H6

https://dl.doubtnut.com/l/_Xwym9ueLtf8Y
https://dl.doubtnut.com/l/_DdQ9KtPL2aKy

